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PREFEITURA MUNICIPAL DE PORTO BELO
ADMINISTRACAO DIRETA E INDIRETA

CONCURSO PUBLICO
EDITAL N. 002/2019

carco: PROFESSOR DE INGLES

INSTRUCOES

1- O Caderno de Questdes contém 40 (quarenta) questdes de multipla escolha, sendo 10 questdes de
Lingua Portuguesa, 5 questées de Raciocinio Légico e 25 questdes de Conhecimentos Especificos,
cada questao com 5 (cinco) opgdes (A, B, C, D, E), e uma Folha Intermediaria de Respostas.

2- Ao receber o material, confira no Cartdo de Respostas, seu nome, numero de inscrigdo, data de nas-
cimento, RG e cargo. Qualquer irregularidade comunique imediatamente ao fiscal de sala. Nao serédo
aceitas reclamacdes posteriores.

3- A prova objetiva tera duracdo de 4 (quatro) horas, incluido, neste tempo, o preenchimento do Cartado
de Respostas.

4- Leia atentamente cada questdo e assinale, no Cartdo de Respostas, a opgdo que responde correta-
mente a cada uma delas. O Cartdo de Respostas serd o Unico documento vélido para a corre¢do
eletrénica. O preenchimento do Cartdo de Respostas e a respectiva assinatura serdo de inteira res-
ponsabilidade do candidato. Nao havera substituicdo do Cartdo de Respostas por erro do candidato.

5- Utilize a Folha Intermediaria de Respostas para registrar as alternativas escolhidas. E proibido fazer
qualquer outro tipo de anotagéo. Essa folha ficara em seu poder para conferéncia com o gabarito a ser
publicado.

6- Observe as seguintes recomendacdes relativas ao Cartdo de Respostas:
- A maneira correta de marcacao das respostas é cobrir, fortemente, com esferografica de tinta azul ou
preta, o espago correspondente a letra a ser assinalada.
- Outras formas de marcacéo diferentes implicardo a rejeicdo do Cartdo de Respostas.
- Sera atribuida nota zero as questfes nao assinaladas ou com falta de nitidez, ou com marcagédo de
mais de uma opg¢éo, bem como emendadas ou rasuradas.

7- O fiscal de sala ndo esta autorizado a alterar qualquer destas instru¢ées. Em caso de divida, solicite a
presenca do coordenador local.

8- Vocé podera se retirar, definitivamente, da sala de realizagéo da prova apds transcorridos 60 (sessenta)
minutos contados do seu efetivo inicio, sem levar o Caderno de Questdes e o Cartdo de Respostas.

9- E permitido fazer anotagdes, céalculos, riscos e afins no Caderno de Questdes.

10- Apds se identificar e se instalar na sala, vocé nao podera consultar qualquer material enquanto aguarda
o0 horério de inicio da prova.

11- Os trés ultimos candidatos deverdo permanecer na sala até que o ultimo deles entregue o Cartdo de
Respostas.

11- Assine no local indicado no Cartdo de Respostas e no Caderno de Questdes.

12- Ao terminar a prova, € de sua responsabilidade entregar ao fiscal o Cartdo de Respostas e Caderno
de Questdes.

N&o se esqueca de pegar seus pertences acondicionados em sala.
Porto Belo, 01 de dezembro de 2019.

BOA PROVA

N° de Inscrigo: Nome do candidato:




QUESTOES DE LINGUA PORTUGUESA

As questdes 1 a 6 se referem ao texto a seguir:

No més em que Porto Belo comemora 187 anos, pacientes com deficiéncia auditiva receberam, na dltima sexta-
feira (04), novas préteses que lhes permitirdo ouvir melhor. A aquisicéo foi realizada por meio do projeto Ouvir Mais,
criado pelo Governo Municipal, através da Secretaria de Saude, e o investimento inicial foi de R$30 mil.

O Municipio podia adquirir anteriormente apenas um aparelho por més, 0 que acabava deixando o paciente por
mais tempo na fila de espera. A secretaria de salide Jainara Nordio explica que, em 2017, foi constatado pacientes
na fila ha mais de quatro anos, partindo dai a vontade de mudar esta realidade. "Desde que assumimos a gestao
da Secretaria de Saude e tivemos conhecimento da fila de espera para exames e aparelhos auditivos, tinhamos
vontade de fazer algo a mais. A partir do trabalho de toda a equipe, surgiu o Projeto Ouvir Mais, que facilitou o
processo e possibilitou a aquisicao dos aparelhos auditivos" - explica a secretaria.

Neste primeiro momento, foram entregues 30 aparelhos auditivos. Os pacientes sédo avaliados pelos médicos das
Unidades de Saude e, se constatada a necessidade de aparelhos, sédo encaminhados para as clinicas credenciadas

para novos exames e aquisicdo do aparelho. [...]
Disponivel em: https://www.portobelo.sc.gov.br/noticias/index/ver/codNoticia/579582/codMapaltem/4326
Acesso em: em 07/out/2019 [adaptado]

1- As virgulas usadas no trecho “pacientes com deficiéncia auditiva receberam, na Ultima sexta-feira (04), novas
préteses que os permitirdo ouvir melhor.” serviram para separar:
(A) uma explicacéo.
(B) o nome de um lugar que vem antes da data.
(C) um adjunto adverbial.
(D) palavras de mesma funcao sintética.
(E) um vocativo.

2- Assinale a alternativa que contém a classificacao correta do sujeito da oragao “Neste primeiro momento, foram
entregues 30 aparelhos auditivos.”:
(A) sujeito composto
(B) oracédo sem sujeito
(C) suijeito oculto (desinencial)
(D) sujeito indeterminado
(E) sujeito simples

3- Analisando o excerto do texto: “...se constatada a necessidade de aparelhos...”, a palavra destacada pode ser
substituida, sem alteracéo de sentido, por:
(A) Caso
(B) A medida que
(C) Mesmo que
(D) Enquanto
(E) Como

4- “Designa um fato passado, mas néo concluido. Transmite uma ideia de continuidade e durag&o, podendo indi-
car, por exemplo, uma agéo que se configurou como habito”. Assinale a alternativa que contenha o tempo e o
modo verbal a que se refere essa afirmativa e que contenha um exemplo correto dessa conjugacao utilizada no
texto:

(A) presente do indicativo — sdo

(B) pretérito perfeito do indicativo — foi

(C) futuro do presente do indicativo — permitirdo
(D) pretérito mais-que-perfeito — foram

(E) pretérito imperfeito do indicativo — tinhamos

5- No trecho "Desde que assumimos a gestdo da Secretaria de Saude e tivemos conhecimento da fila de espera
para exames e aparelhos auditivos, tinhamos vontade de fazer algo a mais.”, a expressao destacada expressa:
(A) concessao
(B) conformidade
(C) consequéncia
(D) tempo
(E) finalidade
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6- Se passarmos a oragao “Os pacientes sdo avaliados pelos médicos das Unidades de Saude.” para a voz ativa,
teremos:
(A) Os médicos das Unidades de Salide avaliam os pacientes.
(B) Os médicos das Unidades de Saude avaliaram os pacientes.
(C) Os médicos das Unidades de Salde avaliardo os pacientes.
(D) Os médicos das Unidades de Salide sédo avaliados pelos pacientes.
(E) Os pacientes das Unidades de Saude avaliam os médicos.

As questdes 7 a 10 se referem ao texto a seguir:

Dezenas de pessoas participaram no Ultimo sabado (05) de mais uma edi¢cao da Pedalada Rosa, organizada pelo
Governo Municipal através da Fundacao de Esportes e Secretaria de Saude, com o objetivo de mobilizar pessoas
emrelagdo __ importancia do diagnéstico precoce do cancer de mama e colo do utero.

Os participantes pedalaram da Praga da Bandeira, no Centro da cidade, até ____ r6tula do bairro Perequé, passando
também pelo bairro Vila Nova. Mulheres, homens e criangas participaram do evento, que se tornou tradicdo na
cidade.

[...]

A Pedalada Rosa fez parte da programacéo dos 187 anos de Porto Belo, comemorado neste més de outubro. A
programacao segue até o final do més, e ainda conta com o corte do bolo e parabéns __ Porto Belo, no dia 13 de
outubro, 15h.

Disponivel em: https://www.portobelo.sc.gov.br/noticias/index/ver/codMapaltem/4326/codNoticia/579494
Acesso em: 07/out/2019.[adaptado]

7- Assinale a alternativa que completa correta e respectivamente as lacunas do texto quanto ao uso ou nédo da
crase:
(A)a—a—-a-as
(B)a—a—a-as
(C)a—-a—-a-as
(D) a—a—a-as
(E) a—a—a-as

8- Sobre a colocagdo do pronome atono no trecho “...que se tornou tradicao na cidade.”, podemos afirmar que a
proclise esta correta, pois o verbo esta precedido de palavra que atrai o pronome para antes do verbo. Assinale
a alternativa que identifica a classificacdo dessa palavra atrativa:
(A) conjung@o subordinativa
(B) pronome demonstrativo
(C) pronome relativo
(D) palavra de sentido negativo
(E) advérbio

9- Analise as afirmativas quanto a acentuagéo de algumas palavras retiradas do texto:

I-  “Ultimo”, “s&bado”, “diagndstico”, “Utero” e “rétula” sdo proparoxitonas sempre acentuadas.
II- “Através”, “Perequé”, “também” e “parabéns” sdo exemplos de oxitonas acentuadas por terminarem em
E(S), EM(ENS).

- “Més” e “até” sdo exemplos de monossilabos ténicos acentuados por terminarem em E(S).

Estéo corretas:

(A) Apenas as afirmativas | e Il estdo corretas.
(B) Apenas as afirmativas Il e Il estdo corretas.
(C) Apenas as afirmativas | e Il estdo corretas.
(D) Apenas a afirmativa |l esta correta.

(E) Todas as afirmativas estéo corretas.

10- No texto, “segue” esta sendo usado no presente do indicativo. Assinale a alternativa em que o verbo SEGUIR
esteja conjugado na terceira pessoa do singular do presente do subjuntivo:
(A) segue
(B) sigas
(C) seguisse
(D) siga
(E) segues
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QUESTOES DE RACIOCINIO LOGICO

11- Lucas afirmou que € ansioso ou nervoso. Se Lucas sempre mente, € correto afirmar que:
(A) Lucas pode ser ansioso, e ndo ser nervoso.
(B) Lucas nédo é ansioso e ndo é nervoso.
(C) Lucas pode nao ser ansioso, e ser nervoso.
(D) Lucas é sempre ansioso.
(E) Lucas é sempre nervoso.

12- O Atlas da Mata Atlantica indica que restam 16,2 milhGes de hectares de florestas nativas, o que equivalente a
12,4% da area original do bioma da Mata Atlantica. Pode-se afirmar que a area original da Mata Atlantica cor-
respondia a uma area, em milhées de hectares, de aproximadamente:

(A) 200,9.
(B) 141,9.
(C) 184,9.
(D) 120,6.
(E) 130,6.

13- Em um concurso, a nota final do candidato é composta pela prova de titulos, prova escrita e prova didatica. A
prova de titulos tem peso 2, a prova escrita, peso 4 e a prova didatica, peso 4. Ana obteve nota 6 na prova de
titulos e nota 8 na prova escrita. Sabendo que a nota final deve ser pelo menos 7,0, para que ela seja classifi-
cada, pode-se afirmar que a nota minima que ela deve obter na prova didatica é:

(A) 9,0.
(B) 7,5.
(C) 6,5.
(D) 6,0.
(E) 5,0.

14- Para uma rifa, foram usados bilhetes com os niumeros de 201 até 500 (incluindo esses dois). Jodo comprou
todos os bilhetes cujos nimeros sdo multiplos de 5. Sendo sorteado um bilhete da rifa ao acaso, a probabilidade
de ser um dos niimeros que Jodo comprou &, em %, de:

(A) 25.
(B) 15.
(C) 10.
(D) 5.
(E) 20.

15- Um boleto no valor nominal de R$ 784,50 tem um desconto de 10% se for pago até o dia do vencimento. Caso
seja pago apés o vencimento, hd um acréscimo com juros na taxa de 0,20% por dia de atraso (juros simples),
sobre o valor nominal. Pode-se afirmar que, ao se pagar o boleto com atraso de 10 dias, o valor pago foi maior
gue no caso de pagamento até o vencimento, em reais, de:

(A) 164,70.
(B) 92,57.
(C) 88,35.
(D) 94,14.
(E) 15,69.

QUESTOES DE CONHECIMENTOS ESPECIFICOS

16- Sobre ética profissional no servico publico, assinale a alternativa correta:

(A) Simpatias, antipatias, caprichos, paixdes ou interesses de ordem pessoal ndo guardam relagdo nenhuma
com a ética servigo publico.

(B) Cabe ao profissional seguir tanto os padrdes éticos da sociedade, quanto as hormas e regimentos internos
das organizacdes para ter a recompensa e ser reconhecido, ndo so pelo seu trabalho, mas também por sua
conduta exemplar.

(C) O trabalho desenvolvido pelo servidor publico ndo pode ser entendido como acréscimo ao seu préprio bem-
estar.

(D) A falta injustificada do servidor de seu local de trabalho ndo representa prejuizo para o servigo publico e nao
prejudica o bom andamento dos trabalhos.

(E) Os erros sucessivos e o desvio de material do local de trabalho ndo podem ser caracterizados como com-
portamento antético.
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17- Assertividade corresponde a um comportamento que se aprende, permitindo-nos agir de acordo com nossos
interesses, expressando nossos sentimentos de forma honesta e adequada, fazendo valer nossos direitos, sem
negar o direito dos outros. A assertividade, entretanto, exige, de nossa parte, determinadas atitudes. Isso posto,
assinale a alternativa que indica a denominacéo correta da capacidade de se colocar no lugar do outro:

(A) Autoestima.
(B) Empatia.

(C) Determinacéo.
(D) Adaptabilidade.
(E) Autocontrole.

18

Segundo o Art. 28, da Lei n® 93949/96 - Diretrizes e Bases da Educacado Nacional, os contetdos curriculares
da educacao basica deverdo observar determinadas diretrizes. Isso posto, analise, entre outras, as diretrizes
abaixo e identifique a(s) correta(s):

I- Difusdo de valores fundamentais ao interesse social, aos direitos e deveres dos cidadaos, de respeito ao
bem comum e a ordem democrética.

II-  Consideracéo das condi¢cbes de escolaridade dos alunos em cada estabelecimento.

Ill- Promocéao do desporto educacional e apoio as praticas desportivas ndo formais.

Assinale a alternativa correta:

(A) Apenas as afirmativas | e Il estdo corretas.
(B) Apenas as afirmativas Il e Il estdo corretas.
(C) Apenas a afirmativa | esta correta.

(D) Apenas a afirmativa Ill esta correta.

(E) Todas as afirmativas estéo corretas.

19

Sobre o Estatuto da Crianca e do Adolescente, Lei n°® 8069/1990, analise as afirmativas abaixo e identifique as
corretas:

I- E direito dos pais ou responsaveis ter ciéncia do processo pedagdgico, bem como participar da definigéo
das propostas educacionais.

Il- E dever do Estado assegurar a crianca e ao adolescente ensino fundamental, obrigatério e gratuito, exclu-
sivamente para os que estiverem na faixa etaria de 0 a 16 anos.

lll- A crianca e o adolescente tém o direito de ser respeitado por seus educadores.

IV- E dever da instituicdo de ensino, clubes e agremiacdes recreativas e de estabelecimentos congéneres as-
segurar medidas de conscientizacéo, prevencdo e enfrentamento ao uso ou dependéncia de drogas ilici-
tas.

Assinale a alternativa correta:

(A) Apenas as afirmativas Il e IV estéo corretas.
(B) Apenas as afirmativas | e Il estdo corretas.

(C) Apenas as afirmativas | e lll estdo corretas.
(D) Apenas as afirmativas I, Ill e IV estéo corretas.
(E) Todas as afirmativas estéo corretas.

20

In relation to the sounds of the English language, classify the assertions below into true (T) or false (F):

( ) The words thanks, thought, and teeth are produced with the voiceless “th”, while the words they, those
and then are produced with the voiced “th”.

( ) The nasal /m/ doesn’t occur in final position in Portuguese at all. In English, it occurs in words such as
aim, them and system. In both languages, lips don’t touch.

) The words cough and coffee are pronounced the same way. Both have one syllable.

) The words two and chew are pronounced the same way.

) Umbrella and uniform start with the same letter, but we say an umbrella and a uniform. Umbrella starts
with a vowel sound but uniform starts with a semivowel sound.

—~ A~~~

Choose the alternative with the correct sequence:
(A)F-F-T-F-F.
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21- The English language is full of words whose written form can be deceptive. Different from Portuguese, in English
we rarely sound out all the letters that we see. Due to the history of the language, there are a lot of silent letters
in English. Analyze the following statements and identify the correct ones:

I- The bis silent in doubt, comb and bomb. In the word tomb, the b is pronounced.
II- The pis silent in the following words: psychology, raspberry, receipt, cupboard.
lll- The |is silent in talk, walk, chalk, would, half.

IV- The his silent in heir, hour, honor, honest, helicopter.

V- Thetis silent in listen, Christmas, castle, whistle.

Choose the alternative with the correct answer:
(A) Statements Il, Ill and V are correct.

(B) Statements I, I, IV and V are correct.

(C) Only statements | and Il are correct.

(D) Statements I, lll and V are correct.

(E) All the statements are correct.

22- "Piled Higher and Deeper" (PhD) webpage offers readers comic strips about life (or the lack thereof) in academia.

Observe the comic strip below and choose the correct alternative:

SURVEY: HoW MANY UNREAD E-MAILS
ARE N YOUR INBOX (TYPICALLY)?

What's wreng_ with

A et We're Trying!
) 4 Helpl!
?&H / An emply inbox s
@ an illusien, man...
P © %\g} J
. © B g

0 <10 <100 >10,000
E-MALLS  E-MALS E-MALS E-MALS

WWW.PHDCOMICS.COM

(A) Most of the respondents have between 100 and 10,000 e-mails unread.

(B) Everybody reads all e-mails; thus, most people have 0 e-mails unread in their inbox.

(C) The percentages in the comic strip come from a Twitter survey with 9,043 respondents. Most of them (64%)
have between 0 and 10 e-mails unread.

(D) Only 14% of the respondents are trying to keep their inbox clean.

(E) Only 14% of the respondents need help to deal with their inbox.

23- Read the sentences below and analyze whether they are accurate in terms of verb tense.

I-  “I bought my smartphone on April 30t and it's an OK product. It has never frozen or anything, but the battery
doesn’t last long and it's a bit slow”.

II- “You have spent a lot of money yesterday”.

lll- “Sam has had the same hairstyle for many years”.

IV- “How long do you live in Brazil?”

Choose the alternative with the correct answer:
(A) Sentences |, Il and IV are correct.

(B) Only sentences | and Il are correct.

(C) Only sentence IV is correct.

(D) Only sentence lll is correct.

(E) All the sentences are correct.
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24- When writing, connecting ideas effectively is important. Read the examples below:

I-  The hotel is famous. It is one of the most well-known hotels in the country. The latest international dancing
competition was held at the hotel. The hotel spent a lot of money to advertise the event. Because the hotel
wanted to gain international reputation. But not many people attended the event.

II- The hotel, which is one of the most well-known hotels in this region, wanted to promote its image around the
world by hosting the latest international dancing competition. Although the event was widely advertised, not
many people participated in the competition.

Ill- The latest international dancing competition was held at the hotel, which is one of the most well-known hotels
in this region. The hotel spent a lot of money on advertising the event since it wanted to enhance its interna-

tional reputation; however, it failed to attract many people.
(University of Washington Writing & Communication Center.
Available at https://www.uwb.edu/wacc/what-we-do/eslhandbook/coherence)

Choose the correct alternative:

(A) Example | is the one that best connects ideas.

(B) Example Il is the worst example of idea connection.

(C) In examples | and lll, ideas are connected in a very good manner.
(D) In example I, ideas are not connected at all.

(E) Examples Il and Il connect ideas better than example I.

25- About the Content and Language Integrated Learning (CLIL) approach, choose the alternative that best describes

its definition:

(A) CLIL describes an approach to teaching and learning where subjects are taught and studied through the
medium of a non-native language.

(B) CLIL describes an approach to teaching and learning where subjects are taught and studied through critical
thinking.

(C) CLIL describes an approach to teaching and learning where subjects are taught and studied through the
medium of English.

(D) CLIL describes an approach to teaching and learning where subjects are taught and studied through the
medium of translation.

(E) CLIL describes an approach to teaching and learning where subjects are taught and studied through the
medium of technology.

26- Match the classroom activities with the main aims of the Content and Language Integrated Learning (CLIL) ap-
proach:
First column: Main aims Second column: Classroom activities
1- to focus on content vocabulary ( ) Learners discuss in groups how they set up their science experi-
2- to develop communication skills ments.
3- to develop cognitive skills ( ) The teacher highlights the parts of a river from a geography text
4- to raise awareness of citizenship which the learners have just read.

( ) Learners do a web search to see how to clean up a local river.
( ) Learners classify plants according to several criteria.

Choose the alternative that presents the correct match:
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27-

28-

Read the paragraph below and choose the alternative that correctly relates the pronouns:

“lcebreakers are first-day activities that are meant to give students and the teacher an opportunity to get to know
one another. They are helpful activities for taking a class full of strangers and turning them into friends (or at least
acquaintances). However, icebreaker activities tend to be short and limited in the extent to which students can

interact. How well can we really get to know someone during a 30-minute activity on the first day of class?”
(BARRETT, A. Extended Icebreaker. English Teaching Forum, v. 57, n. 3, p.33)

(A) “them” in “turning them into friends...” refers to students.

(B) “one another” in “to get to know one another” refers to student and teacher.
(C) “we” in “How well can we really get to know...” refers to students.

(D) “They” in “They are helpful...” refers to students.

(E) “They” in “They are helpful...” refers to icebreakers.

Read the excerpt below from Martin Luther King's 1963 | Have a Dream speech, and analyze the statements
that follow, classifying them into T (true) or F (false):

“We are not satisfied,
and we will not be satisfied
until justice rolls down
like waters and righteousness
like a mighty stream.”

( ) The purpose of King’s rhetorical speech was to end racism in America and persuade the audience that
everyone should have equal rights.

( ) King uses the expressions “until justice rolls down like waters” and “righteousness like a mighty stream”
to make the reader visualize “justice” and “righteousness” as rushing water, thus, implying that they need
to be forceful and unstoppable.

( ) The expressions “until justice rolls down like waters” and “righteousness like a mighty stream” are exam-
ples of simile, a comparison using like or as to create a vivid image.

( ) King is able to deliver a strong message because of the way he uses language.

Choose the alternative with the correct sequence:
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29- Read the abstract below, analyze the following statements and identify the correct ones:

“This paper discusses some of the assumptions behind the use of the terms international, global, foreign, addi-
tional language and lingua franca when referring to English. Such terminology is approached from the angle of
the pedagogical praxis surrounding teaching-learning English in Brazilian public schools (GIMENEZ, CALVO &
EL KADRI, 2011), based on Derrida’s and Foucault’s thoughts on text and discourse, taken here as our focal
point when analyzing such terminology for English language teaching. The connotations attributed to English are
analyzed in their occurrence in language policy documents, international academic journals and abstracts of
papers presented at a Brazilian teacher’s education conference; the uses of the terms are contrasted with English
as a foreign language (EFL), as has been traditionally used in Brazil.

KEYWORDS: foreign language, additional language, English, language concept, poststructuralism.”
(JORDAO, Clarissa Menezes. ILA — ILF — ILE — ILG: Quem déa conta? RBLA, v.14, n.1, p.13, 2014)

I-  An abstract summarizes, usually in one paragraph of 300 words or less, the major aspects of the entire
paper. It is normally followed by a list of keywords.

II- Jordao’s paper aims at discussing the implications of teaching English in Brazil.

IlI- In Brazil, the term EFL is present in all official documents.

IV- Jord&o analyzes the uses of the terms international, global, foreign, additional language and lingua franca
when referring to English in language policy documents, international academic journals and abstracts of
papers presented at a conference.

Choose the alternative with the correct answer:
(A) Statements | and IV are correct.

(B) Statements Il and Ill are correct.

(C) Only statement | is correct.

(D) Statements I, Il and IV are correct.

(E) All the statements are correct.

30

In this early part of the 215t century the range of technologies available for use in language learning and teaching

has become very diverse and the ways that they are being used in classrooms all over the world have become

central to language practice. About the use of new technologies for teaching English, choose the correct alter-

native:

(A) New technologies are only substituting tools. As examples, slides substitute the blackboard and online dic-
tionaries substitute paper dictionaries.

(B) Digital technologies simply provide a medium through which teachers can meet the immediate needs of their
learners.

(C) The use of new technologies promotes student engagement in classes, but activities do not need to have
clear goals.

(D) New technologies have an impact on the development of pedagogy and may enable teachers to rethink what
they do.

(E) Computers are present in all schools; consequently, English teachers face no difficulties to use technologies
in public schools.

31- Albert Einstein once said, “I am by heritage a Jew, by citizenship a Swiss, and by makeup a human being, and
only a human being, without any special attachment to any state or national entity whatsoever”, How would you
report what he said? Choose the correct alternative:

(A) Einstein told the reporter that he is by heritage a Jew, by citizenship a Swiss, and by makeup a human being,
and only a human being, without any special attachment to any state or national entity whatsoever.

(B) Einstein told the reporter that he were by heritage a Jew, by citizenship a Swiss, and by makeup a human
being, and only a human being, without any special attachment to any state or national entity whatsoever.

(C) Einstein told the reporter that it is by heritage a Jew, by citizenship a Swiss, and by makeup a human being,
and only a human being, without any special attachment to any state or national entity whatsoever.

(D) Einstein said the reporter that he was by heritage a Jew, by citizenship a Swiss, and by makeup a human
being, and only a human being, without any special attachment to any state or national entity whatsoever.

(E) Einstein told the reporter that he was by heritage a Jew, by citizenship a Swiss, and by makeup a human
being, and only a human being, without any special attachment to any state or national entity whatsoever.
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32- Read the cartoon below and analyze the statements that follow:

5

Lpibienirinl B Etorr—
“Baby Blues” © Baby Blues Partnership. Reprinted with permission of King Features Syndicate.
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I- The dad loses his patience with Zoe because the kid doesn’t understand the questions he asks.
II- The cartoon is funny because of the inappropriateness of the interaction.

llI- The kid in the cartoon hasn’t completely acquired the pragmatic maxims of conversation.

IV- The kid in the cartoon is lazy and not able to answer the questions.

Choose the correct alternative:

(A) Statements Il and Il are correct.
(B) Statements | and IV are correct.
(C) Only statement Il is correct.

(D) Statements I, Il and IV are correct.
(E) All the statements are correct.

33- Choose the alternative that best describes the cartoon below:

MUST BE NICE
TO BE BILINGUAL.

1110

i ©Tundra 2015

if

(A) The cartoon is about bilingualism. Two of the dogs are able to speak the cat’s language, and thus, to com-
municate with it.

(B) The cartoon is about bilingualism. The cat is able to speak the dogs’ language, and thus, to communicate
with them.

(C) The cartoon is about monolingualism. The animals are able to speak the same language.

(D) The cartoon is about monolingualism. The dogs are able to communicate, and they do not need to communi-
cate with the cat. The cat uses no language.

(E) The cartoon is about bilingualism. One of the dogs is able to speak the cat’s language, and thus, to com-
municate with it.

34

About the use of relative clauses, read the sentences that follow:

I- The woman who lives next door is a doctor.

II- Everything what happened was my fault.

lll- The machine that broke down is now working again.
IV- 1 don’t like stories that have unhappy endings.

V- Where is the cheese which was in the fridge?

Choose the alternative with the correct answer:

(A) Statements I, I, IV and V are correct.
(B) Only statements | and Il are correct.
(C) Statements |, I, IV and V are correct.
(D) Statements I, Ill and IV are correct.

(E) All the statements are correct.
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35- Some nouns are countable in other languages but uncountable in English. Choose the alternative that presents
only uncountable nouns in English:
(A) coffee; job; baggage; advice; paper; noise; experience.
(B) juice; weather; view; suggestion; work; permission.
(C) rice; sand; bowl; music; beach; blood.
(D) bread; information; feedback; news; money; furniture.
(E) water; electricity; accident; song; air; luck.

36- Match the phrasal verbs to their meanings:
First column: Second column:
1- break down ( ) go into the air
2- get by ( ) cancel
3- take off ( ) manage
4- take somebody in ( ) stop working
5- call off ( ) deceive

Choose the alternative that presents the correct match:
(A)5-3-1-4-2.

(B)2-1-4-3-5.
(C)1-4-5-2-3.
(D)3-5-2-1-4.
(E) 4—-2-3-5-1.

37- Analyze the sentences paying attention to the use of prepositions of time:

I- See you on next Friday.

II- Tl see you on Friday morning.

Ill- She was born on October 24, 1986.

IV- They arrived at 5 o’clock.

V- Oktoberfest in Blumenau, Santa Catarina, Brazil, takes place on October.

Choose the alternative that presents only accurate sentences:
(A) Statements Il, Il and IV are correct.

(B) Statements I, Il and IV are correct.

(C) Only statements | and Il are correct.

(D) Statements lll, IV and V are correct.

(E) All the statements are correct.

38

In relation to text types and genres, classify the assertions below into true (T) or false (F):

( ) A genre is a type of text, defined by its purpose and intended audience and identified by its format, style
and language. An advertisement, a letter, an e-mail and a fairy tale are all examples of genres.

( ) Texttypes, on the other hand, represent groupings of texts which are similar in linguistic form, irrespective
of genre. For instance, Hammond and colleagues (1992) classified the genre recipe as being of the pro-
cedure text type, and the genre student essay as being of the expository text type.

( ) Let’s take the ‘genre’ of advertisements for example. The purpose of an advertisement is to persuade the
reader to buy something. Therefore, the format is attractive with pictures and few words. The style is
direct and persua-sive, and the language uses short, simple sentences with powerful vocabulary.

( ) Teaching genre features do not help set the context for reading but, for writing, knowing genre features
provide learners with a starting point and ensure cohesion.

( ) Teachers should use a range of genres and text types that match learners’ age, interests and needs.

Choose the alternative with the correct sequence:
(A)F-F-T-F-F.
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39- Read the following sentences and analyze them in terms of the use of prepositions of place:

I- My colleague is unfortunately still in the hospital. He has cancer.
Il- Susan works in hospital as a nurse.

Ill- The beer is at the freezer.

IV- My favorite singers were on stage.

V- Her favorite restaurant in New York is at 945, Madison Ave.

Choose the alternative that presents only accurate sentences:
(A) Statements lll, IV and V are correct.

(B) Only statements | and Il are correct.

(C) Only statements IV and V are correct.

(D) Statements I, Il and IV are correct.

(E) All the statements are correct.

40

In relation to text types and genres, classify the assertions below into true (T) or false (F):

) How is this word pronounced?

) My car is repairing at the moment.

) I haven’t been invited to the party.

) The letter might have been sent to the wrong address.
) My room has been cleaned yesterday morning.

e N N N N

Choose the alternative with the correct sequence:
(A) F-F-T-F-F.

(B) T-F-F—F—F.
(C)F-T-F-T-T.
O T-T-T-T-T.
(E) T-F-T-T-F.
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PREFEITURA MUNICIPAL DE PORTO BELO
ADMINISTRACAO DIRETA E INDIRETA

CONCURSO PUBLICO
EDITAL N. 002/2019

FOLHA INTERMEDIARIA DE RESPOSTAS

Questdes RESPOSTAS
01 A B C D E 21 A B C D E
02 A B C D E 22 A B C D E
03 A B C D E 23 A B C D E
04 A B C D E 24 A B C D E
05 A B C D E 25 A B C D E
06 A B C D E 26 A B C D E
07 A B C D E 27 A B C D E
08 A B C D E 28 A B C D E
09 A B C D E 29 A B C D E
10 A B C D E 30 A B C D E
11 A B C D E 31 A B C D E
12 A B C D E 32 A B C D E
13 A B C D E 33 A B C D E
14 A B C D E 34 A B C D E
15 A B C D E 35 A B C D E
16 A B C D E 36 A B C D E
17 A B C D E 37 A B C D E
18 A B C D E 38 A B C D E
19 A B C D E 39 A B C D E
20 A B C D E 40 A B C D E

INFORMACOES

Concurso Publico - Edital 002/2019.

O inteiro teor da prova e o gabarito da prova objetiva serao divulgados até as 20h do dia 02 de
dezembro de 2019, no endereco eletrénico http://concursos.furb.br/, link Prefeitura de Porto Belo —

Porto Belo, 01 de dezembro de 2019.
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